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Instructions to Students :

Answer Any FIVE FULL Questions

Answer any 5 question(s)

Q.No
1 a State and explain ohm'’s law with an illustration. List its limitations.

A DC circuit comprised two resistors R1 of value 30Q and R2 of unknown value. The R1 and R2 are connected in parallel, together with
b the third resistor R3 of the value 6Q connected in series with the parallel group. The P.D across R3 is 84V. If the total power in the
circuit is 4312W, Calculate i) The value of R2 ii) The applied voltage to the ends of the whole circuit, and iii) The current in each resister.

2 a Forthe sinusoidal signal, Define a) Cycle b) Time period c) Phase difference, and d) Form factor e) Peak factor.

The instantaneous values of two alternating voltages are represented respectively by v1( t=2sin5#30° Volts and V2 (t)=sin5t+60°

b
Volts. Derive an expression for the instantaneous value of (i) the sum (i) the difference of these voltages.
Determine the currents in various branches of the given network.
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4 a Define RMS Value of Alternating current, show that Its value is proportional to the maximum value.

The equation for an AC voltage as V/=0.04sin2000t+60° Volts. Determine the frequency, angular frequency, instantaneous voltage
when t=160us. What is the time represented by a 60° phase angle?

Two 12V batteries with internal resistance 0.2Q and 0.25Q respectively are joined in parallel and a resistance of 1Q is placed across the
terminals. Find the current supplied by each battery.

b  State and Explain Kirchoff's laws as applied to an electric circuit.
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For the bridge circuit shown in Fig. Calculate current in all the branches and power supplied by the source.
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b  Explain the generation of single-phase AC induced emf with a suitable diagram.

For the network shown in Fig. determine current flow in the Ammeter “A” having a resistance of 10Q.
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For the network shown in Fig. determine 11, I3, E, and I. If the voltage across 9Q resistor is 27V.
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